Question 1

Using tidal diamond M on Chart 3 calculate th i
e effect of the tide on S
February between 0925 and 1025. " sunday, 20
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Vi Computation of rates
R
Vidoia TIDAL STREAM RATE (in tenths of a knot): assume to vary with r
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Instructions 4, Using ¢
1. Erom the tide tables, calculate the range of the tide for the day in question. extren}
2. Note the neap and spring fate from the Tidal Stream Atias or Tidal diamond for the 5, Using f
required time and geographical position. horizot
3. On this graph, plot the neap and spring rate on the relevant (neap of spring) dashed 6. Asgﬂs

Jine, using the horizontal scale (Tidal Stream Rate). el



Question 2

Using tidal diamond M on Chart 3 calculate the effect of the tide on Sunday, 24
February between 1025 and 1225. '

Taor ¢ Vacvenza (vT)
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Instructions

1., Frummetluaubls.wwmmemwofmmhrmsdaylnmesﬁm.

2. Nota the reap and spring rate from tha Tidal Stream Atias or Tidal dlamand for tha
requirad time and eographical pos ftion.

3. On this grapn, plot the mapmmmemlherelevam(mworsmm)dashad
ling, using the horizontal scale (Tidal Stream Rate).



Question 3

Using tidal diamond M on Chart 3 calcula
te the effect of the tid
February between 0805 and 0925. e omsunday, 24
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R
o TIDAL STREAM RATE (in tenths of a knot): assume to vary'
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Instructions 4,
1.anmuums,wwmmormwoln'etuewmeuaylnmesﬂm.
2. Notg the reap and spring rate from the Tidal Stream Atias or Tidal diamond for the 5.
raqummmmogmnbalposmm.
3. On this grapn, plot the neap and speing rate on th relevant {neap or spring) dashed 6,

Jine, using the horizontal scale (Tidsl Siream Rate)



Question 4

Using tidal diamond M on Chart 3 calculate the i
effect of the tide on S
February between 0605 and 0805. v, 20
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Instructions 4

1. Frunmetmmbles,wwmMrangeofmetidehrmenayhmeslhn.

2. mmﬂnmpammmmefmmmﬂdﬂSﬁmesaTmldeam
required time and geographical position.

3.0nﬂnnram.nkxmampu\dspdmmummrelml(mporwmmshed €
ma,wngmemmbmmm.
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Question 5

Using tidal diamond M on Chart 3 calculate
v the effect of the ti
11 April between 0605 and 0805. B RSN Ty
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Instructions

1, From the tide tables, mlculmeﬁlemoeclmwdeforlmuaylnqueshn.

2. Note the neap and spring rate from the Tidal Straam Atlas or Tidel diamond for the
requredﬁmomgenwaohlcupodwn,

3 Onlhlsmh.mmemmwrmmmmemmwmmrh@m
ling, using the horizontal scale (Tidal Stream Rate}.



